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| Paper / Subject Code: 81310 / Business Economics-1.

S VP FAM- %Ml

(2 Y2 Hours)

N.B : (1) All questions are compulsory,
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary. :
. (A) State whether following statements are true of fai

(1) An equation is true only for a specific value

(2) A variable is an identity whose quantity can change over &‘31:7
(3) Demand curve always slopes upward. = 2
(4) Geometric method measures the el&ﬁt:cxty

(6) Economies of scale help to r
(7) A monopoly firm and mdxgs_

t best alternative use
sellers

Refers to change in one variable due
‘tﬁ change in other variable

f. | OPEC

g. | Monopoly

Cost incurred in producing an
additional units of output

long-run production

show the pictoral presentation and the
relationship between two variables

1 demand curve under-perfect competition. &
/? fcross elasticity of demand. 7
OR
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Paper / Subject Code: 81310 / Business Economies-I.
ol

(C) The demand schedule for an industry in a purely com petrt
follows —

Q=500 -3P
The short-run supply schedule of the 111dustry is as f{;}”

Q‘ =.3+ 8P
Questions- e g
1. What is the equilibrium price and quantzty in the market";“‘i
2. What is the total expenditure incurred by the consumers" >
3. Calculate the total revenue of the ﬁrms '

(D) Discuss the survey method ofdémand forecasting. v
3. (A) Explain the law of diminishing margmai lctums W1th ﬂ’xcf

illustration and suitable dzagram Bl D B
(B) Discuss the types of inte nal e econcmzes of sca RN

£

8

o

oo

15
] I lysis in decision making,
b )‘ Types 0 .;pr;ce,e}astxcﬁy of demand.

**********&**$**$*%*
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Q.12) Select the most appropriate alternative and rewrite the 'Stateﬁ]‘ehft"s.‘V'{Aﬁén‘iﬁt‘a‘ny'&}@ [

Q.1b)

 5) Business objectives

tTNBEM ~ ¢y Il 12 ) 2518

Paper / Subject Code: 81209 / Business Environment- I &

Q:?s géé% f’E%Eiﬁ:}l e
[Time: 2:30 Hours] S o [Marks:75]
Please check whether you have got the right quggiiﬁﬁjpapen N .

N.B: 1. All questions are compulsory. &
2. Figures to the right indicate full marks. - -

08)

1) Basic objectives of business is . TR TS A -
a) Profit maximization 2) Buying and selling 3) Profiteering -~ <+ 0 ©
2) Business environment is ’ :

a) Dynamic b) Static ¢) Simple to understand : T e O
3} State commission can deal with cases involving value of goods\compensation not = .-

exceedin ; A ‘

a) 20 lakhs b) 50 lakhs c) One crore
Audit is a report of economic performance,
a) Commercial b) Social c¢) Human'resource
5) Study of ethics is a part of S S

a) Social science b) History ¢) Economic ,
6) Business helps in - of employment opportunities. -

4)

a) Creation b) Bridging ¢) Objecting , SR
7) Commercial audit is inspection of account & balance sheet ofg,’mmpany as per the

provision of Indians Companies ACT, -
a) 2013b) 1956 ¢) 1986
8) TNCs are ",,7’,_t'd‘MN'Cs. RSN
a) Superiorb) Inferior ¢) Equal DT FEOTs
9) FDI ___industrial and econiomic development,
a) Promotes’b) Restricts ¢) Avoids

10)Share ofde |

loping countries in India’s exportis _
ngb) Decreasing ¢) Limited

ments are True or False. (Attempt any 7) (07)
n internal to an organization,
orms of ethical dilemmas.
nsation sought is upto Rs. 5 lakhs on filling a complaint before

«7)- Humanistic attitude: ak ‘employees happy.
B GATT.was replaced b WTO

-9) FDLhelps in technology diffusion.

o flG)Ma"xiff}i;izing_proﬁts is f‘she‘én‘ly key to accomplish organization goals,

> a) Expiam t‘he}k‘Chéraéterfls‘tic of business. (08)
~ b) Discuss the Role of objectives in business management. (07)

OR

2 <) Explain SWOT analysis. | (08)
: ~d)f’-:;5tatfe_‘§nd ékglaih the Characteristic of business environment, (07)
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Q.3
Q.3

Q.3
Q.3

Q.4
Q.4

Q.4
Q.4

Q.5
Q.5

Q.5 Write short note on any three fmm the followmg

Paper / Subject Code: 81209 / Business Environment-1

Qi %&u ﬁ@ﬁ&z

a) Define corporate culture. Explain its features.
b) Explain the features of Consumer protectwn ACT 1986

d) What Factors influence business ethics in India? ‘f 3

a) Expiam the need for carpnrate gw&rnance

ey ey

OR -
c) Explain the Features of social audit. :
d) Distinguish between Social audit and Cgmmermai audit.

a) Explain the External growth strategles.
b) What are the characteristics of aMNCZ .
OR

a) MNCs

b) FDI

¢) MSMEs

d) Ethical climate
¢) Economic objectiv

e e
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’\\ Paper / Subject Code: 80910 / Mathematical & Statistical Techniques-I' =~

Max Marks: 100 % Time: 3 Hrs.

N.B. (1) All questions are compulsory
(2) Figures to the right indicate full marks
(3) Graph papers will be provided on request K A
(4) Use of simple non-programmable calculator is allowed .~~~

08) SECTIONT
\ Ql. Attempt any FOUR from the following: & . 7, ' S ,

08] a) Mr. Vijay invested in shares of face value Rs.. IO At 6% rate he xecaxved 2 total dmdend
07) of Rs. 62.40. How many shares did he purchase‘? x YA (S)i
08) b) A person sold 400 shares at Rs 55 each paymg O 5% bmkerave What xs net ‘amount
07) received by him? R (S)

4 ¢) Ms. Aayushi invested Rs. 18000'in a mutua fund when the NA V. fas Rs 2]0 4’! and
15) redeemed all the units when the NAV was Rs.290.50, Whal was the tofal gai in? What was

the rate of return? There were no loads. (Number of units was munded off upto 3 decimal
places.) oo (5)

d) Mr. Sachin mvested Rs, 30,000 in-a- mutual fund on 03/05/10 when its NAV was Rs.
66.11. On 5/{)3/12 he recelved adividend @ Rs. 5 per unit. Find the total dividend
received by | hun assummg no entry Ioad e (5)

€) An mvestor mvested Rs 4 ()OO on the 2nd of evex y month for 5 months in an SIP of a

c) Soive the LPP ' graphicall &)

MaxZ x+y\.\ v
Sub;ect 0.5
S 2x+3y<17t7"
5y 2x+y<8

Page 10of 4

08AE2D2E9DOCC5015671E7TEE7E028D25



Paper / Subject Code: 80910 / Mathematical & Statistical '.{'echniqﬂ’es-i '

d) Solve the LPP graphically:
MinZ=7x+y
subject to
x+4y>4
3x+y>3
Xy=0

f) A diet of a sick person must contain atleast 40(}0 umts Of wtamsm SO units cf mmeia
1400 calories. Two foods F1 and F2 are available at cost Qf Rsf"

respectively. If one unit of F1 contams 200 umts of vitamins, 2 umts of mmerals (a

anci Rs 8 pe

calories and one unit of F2 contains IOOO units of wtamms, 2 umis Gf mmemis and 20

calories.

Formulate the LPP to minimize the cost. ‘

' »;\Iowmg

s SE‘QT;QN mo

f measures ef chspem@n

020 20-40

40-60

60-80

80-100

BT

50

24

16

the standard dev:a’czon for the given data:

)

)
©)

‘ents the marks Of 150 studants in a class. Calculate Qi & Qs and
ficient of quartile deviation.

)

d)_;lThe foHowmg dlstnbutxon nges the wexght of forty children living in a colony. Calculate

&)

®)

: 1 O-I 5 15-20 20-25 25-30
s 8 12 10 6
in meaﬁigf the two groups for the following data and hence check
ent.
Group [ Group 11
100 200
50 45
5 3
Page 2 of 4
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Paper / Subject Code: 80910 / Mathematical & Statistical 'i‘echniqxz:

Q.4 Attempt any FOUR of the following

a) One ticket is drawn at random from a set of 20 tickets numbc d f
probability that number of the ticket drawn is divisible by 2 or 3’ 3

d) In a group of 125 students, 70 passed i m mathemaucs 55 passed in statisﬂcsar{d 3{3 fyasscd
20 in both. What is the probability that a- studem seles;ted at randc:m has passed {1)' at

'ast in one

subject (u) in only one subject R 4
3 ¢) Explain Random variable, Pmbabihty drstrlbutmn and its Expec ‘aon W’ égaitébie
example. Al ~ SO »: YO &)
Q5. Attempt any FOUR of the following: : TV
a) Explain the term ‘Opportunity loss> in ‘Dcms;on theory’. Explam he‘w the optimal
decision is obtamed ‘wrth respect.io Opportumtv loss’? 8)
b) Solve the glven decxs}on problem using 1) Maxxmax i) Maxxmm criteria ®
A ‘,,:_10 18
: 92 8
L 2] A58 12
0,457 19

Page 3 of 4
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Paper / Subject Code: 80910 / Mathematical & Statistical Techniques-T =

d) Given the pay-off matrix, solve the decision problem usingﬁﬂ

States of nature

Action

Ei

Ea

E3

P

15

14

10 o5

Q

13

15

125

R

17

16

Probability

0.5

0.4

e) Draw a decision tree for the given pay-off table and suggest}h;e.bpﬁi_minn,,

N

Participation Level

Type of Policy .

“High

~Medium |

A A

BRI

e

15 o

0300

T 030

Page 4 of 4
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Paper / Subject Code: 81905 / Foundation Course-1
-
i3s M- Sem-T

Time: 2 % hours

NB: (1) All questions are compulsory
(2) Figures to the right indicate full marks

1. (A) Choose the correct alternative (any eight)

(i) IniIndia the state of has theglamfés;t'gé‘ridéf ratio.
{Punjab, Haryana, Bihar) AT

(ii) Shwetambar and Digambar are the twc} majcr sec:ts o'
(Sikhism, Jainism, Buddhism) A 5

(iii)  Marathi belongs to
(Dravidian, indo-Aryan, Aust

- (v} Deficiency of Vitamin f"f.fﬁ?i;'a\f".ﬁcéusé“ﬁiih,dheg:s;‘
(A, B, C) ASITSE G

(v} The practice of untcuchabmty 15 prohtba‘ced in: fndta hyA\"\‘: . > ofthe
Constitution. =
(15,16,17) S5

(vij  Demand for son of the so:l' IS avn ex
(communahsm castets N, re

Amendment Act.

anchayats-R was given constttutfonai status by
7279, 731, 74%)

/ing statements are True or False (any seven). (07)

he Canstsm ion of India recognizes 22 languages.

‘ ngl lishis the secondary official language of Indian Union.

(iii) - ;g’Maharashtra was the first state to be formed on linguistic basis.

The térms ‘Secular’ was added to the Preamble of Indian Constitution by 44t
mendment Act.

Trachatria is a serious form of conjunctivitis.

Pagelof4 '
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Paper / Subject Code: 81905 / Foundation Course-I

(vi)  Down’s syndrome is a defect due to extra chromosome.
{vii)  Indian Constitution does not confer double c‘tlzenshtp

(viii)  Fundamental rights are justiciable in nature.
(ix)  Indian Constitution has adopted Parliamentary democra
(x) Trinamool congress is a national party.

2. Explain the causes and consequences of declining gendér“;‘*ﬁaf
OR LR
Examine the various problems faced by the peopié"&v‘ithdisaﬁ

5. ‘73" Constitutional Amendment‘Act ensures emocrauc par

t the grassroot
level’ - Discuss. '

(15)

SRR ok kK kR ok
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ol [12.] 208

Paper / Subject Code: 81404 / Business Communication-L

FNREM sem-1

Total Marks: 75 marks

~ Time:2 Y hi

N.B. All questions are compulsory
1(A) Match the Columns: (Any Eight)

(1) Encoding (a) Mass Cammumcatrm

) :
(2) Blogs with Photos (b) Needs Mental DISGlp
(3) Kinesics (c) Introduces the Sende: to the R

(4) Hierarchy (d) Levels of Authorxty and Pow&f
_ (5) Semantic Barriers (e Prov;dmg Lip Service - 7
) (6) Fake Listening g i.(f) Invc}]ves the use of cemmon symbols S
(7) Good Listening ' ‘ ‘
(8) Letterhead
(9) Post Script
) »

& (10) Address to a Large Group

(B) State whether-the following are > (07 marks)

mmunication.

(07 marks)

(08 marks)

(07 marks)

dvantages of Oral Communication. (08 marks)

B

Page 1 0f 2 '
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4.(A) \
opened  branch at Mumbai. The candidate should be a post-gra
of 02 years work experience and should have ;éXcéil}éﬁrcmﬁmtﬁagca on skill

Complete Block layout.

(B) You have received an offer for the posjﬁbri};f a S§_n’ilor Sales E:Xeéifti?éﬁ_gt /:?Q?m‘

Mattresses. Write a Letter of Job Acceptan Us the odtf ‘ dB lock Y

(15 marks)

D o ——

Page 2 of 2
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Paper / Subject Code: 81304 / Business Communication-I.

Total Marks: 75 marks
N.B. All questions are compulsory
I (A) Match the Columns: (Any Eight)

(1) Encoding (a) Mass Comxﬁumcatmn
(2) Blogs with Photos (b) Needs Memai stc;p
(3) Kinesics ( 1
{4) Hierarchy

(5) Semantic Barriers
(6) Fake Listening

(7) Goed Listening ;{g) Photo B
(8) Letterhead & (h)}Bod\y Language
(9) Post Script (i) Related to Language ’

; -f‘(t} !nvalves the use of €O mon'symbo}

(10) Address to a Large Group Lo G}i_EXtensidn of the Body of the Letter S

(B) State whether the following are True or False: (Any Seven)

a) Jobs may be advertised through websites, but apphcatxons shcu)d ne v oL
b) Use of Jargon shows command over language K
¢) Listening enables Lmderstandmg ofa message.

d) A communication gap can be created due to aps ha : barrier to ¢ ;lammnicatien.

mmunication.

ith a labelled diagram.

£ Written Communication.

(A) - Discuss and explain in d il Communication.

(B)- List anyﬁveadvantagﬁ d disadvantages of Oral Communication.

Page 1 of 2
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(07 marks)

{07 marks)

(08 marks)

(07 marks)

(08 marks)



-~

Draft a Letter of App 16813(;&

(15 marks)

Page 2 of 2
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Paper / Subject Code: 81203 / Business Mathematics. s
RFM -50m- 1 ae Code : 19812

[Time: 2:30 Hours ]

Please check whether you have got the right quesﬁon
All Questions are Compulsory and carry equal ma; 1
Use of simple Calculator is allowed ;
Figures to right indicate full marks to each sub q' (

N.B:

W

Q2.1 (&) Choose the correct alternative. Attempt any exght from the fallowmg
1) ITxiy=2:3andy:z4:3thenx:y:zis______ &
a) 7:11:10
b) 8:12:9
d 10:12:11
d) None of these

3 2] 1F15-x, 26-x, 35-x and 50-x are in prop
: a) 2

b) 5

c) 4

d) None of these

3) The Cash discount is calculat
a) Netselling prlce *'

b} Cost price

¢} Invoice price

d) None of these - -

o=
-

sp" esent value.

. a) ,’/Gréé{ei:’%than
b) 'Less than” o

L

e end of periods the annuity is called

é} Annmty due A
b) Immediate annuit
) Umform annuity

73 The rate of dividend'is glven for of a share,

% a}_» Market value

0281C74C6A947396FE1A36B32270B5EE
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Paper / Subject Code: 81203 / Business Mathematics.

Q.P. Code : 19812

8) Ashare of face value Rs. 100 has a market price of Rs. 10 below par means 1ts mar’ket priceis: o o7
a) RS.90 ‘
b} RS.110
c) RS.95
d) None of these

9) The compound interest on Rs. 10000 at 5% P.a. per Syears IS
a) Rs.1500
b) Rs.1600
c) Rs.1400
d) None of these

10) Mutual funds are managed by _ ;
a) Board of Directors
b) Asset management companies -
c) SEBI >
d) None of these

Q.1 (B) State whether following statements re true or f
1) Ifa<bthen the ratio a:bis dlled asa ratla of le seer in equahty
2) Percentage is ratio with OQ*? S‘numerator i
3) CP=LOSS+NSP. - U8 ‘ ,
4) Adel creder ageni ‘who does ot charge any commlsqwn fz om thé seller
5) The list price canno iculated if only the rates of discaums am’t the net Selling price are

given. S s

6) The buyer: has 1 1 ,eller and the blOkEI’ bcth
7) In mutual fund SIp: t:él_ﬁds for simple increment plan.

8) Ifashar e is avaﬁ"  at par then the difference between its market value and its face value is
Zero. 74

)

9) ‘ed only on the-principal, then it is called the simple interest,
10) A smkmg fund nat an annulty

QZ (A)A campany fixed the rate Qf cemmlssxon to its salesman as follows: {8}
3% on the first Rs. 5000, 5% on the next Rs. 8000, 8% on next Rs. 10000 and
11%on the baiance ‘company had agreed to pay 1/4% of total sales as bonus if the sales crossed Rs.

30000 A salesman of the company secured sales worth Rs. 32000 calculated total earning of the
salesman ' ; _

(B} lQibuHsc n

ough 13 hect TS ef farmland in 7 days. How many bulls will be required to plough {7}
1 1? hecte QT 4%

5 days g

e % OR ’
Q.2 (C) A merd1ant al Qwed 400 trade dlscount and further 2% cash discount and thus made 10.691% (8)
proflt on’ ‘his cost pnce \e hsted price was Rs. 7530 find his cost price.

are in partner ship with their capitals in the ratio 2:4:1 they decide to dissolve the (7}
par tnershlp The assets of the company are sold for Rs. 1960000 and the liabilities (other than the
capltalj of Rs. 835000 are paid in full. They incur realization expense of Rs.5000 what is the amount

> that each pax tner would get as the final settlement after the dissolution?

0281C74C6A947396FE1A36B32270BSEE



(7)

(8)

(7)

(8)

(7)

i

T

o=

d

Ll

[

)

Paper / Subject Code: 81203 / Business Mathematics.

Q.P. Code : 19812

Saroj invested certain amount in a bank for 3 years and received Rs. 119790 as: the final*
a“lount ata certain rate of interest. She deposited an identical amount in another bank for 5 years .
and got Rs. 144945.90 as the final amount with same rate find the plmup'd amoum and the rate Of
compound interest.

] Find the acceptability of following project using the NPV method (use 13% P.a. ds Lhe lntel est 1ate}

Year 0 1 2 3 4 0.5 kb
Cash flow Rs. | -70000 | 15000 | 17000 | 20000 | 22000 | 25000

OR
; 1e simple interest at 10% P.a. for 4 years on acertain sum is RS, 8000 Find the compound
nterest on the same sum at the same rate for the Same penod

1 Mr. Joshi deposits RS. 8000 at the end of. every yeal for 5 years in a bank The bank

Charges the rate as 8% P.a. ccmpnunded Quarterly Fmd the effectwe mte af mte1 est P.a.
&xo find the accumulated value, v

) Pooja wants to invest some amoum in company A or company Bhy purchasmg E«qmty shares

Of face value Rs. 10 each with market price of Rs.220 and 190 respectively the companies are
expected to declare dmdends at 25% and 15% respectwely In which company is it profitable to
invest her Money? Why7

ny invested Rs. 120000n-10% august 2008 at NAV of Rs. 43.378. After wards he

ceemed all his units on Rs: 27t October 2008 with total 'gam of Rs.875.15. If the entry load was
2;2 % and exitload was 1% find the NAV on 27th oct 2008

An amount of Rs.340 68 was mvested by Ms. Aasm in S% stock at 85 She sold the stock at 82 after
receiving the dividend the brokm age for purchase and sales were 0.2% and 0.1% respectively.
Calculate her net gam or iﬁss and a}se % gam or Ioss

Ul

a2

| Kiran invested Rs. 25000 m-mutual func{ in 15‘ may 2009 When the NAV was Rs. 1073.2568. He

redeemed the units on 8t july” 2009 with NAV of Rs. 1349.6395. there was no entry load or exit load.
Find the number of - umts purchased the gain and rate of return.

) Ex lam Brleﬂy proporuon and 1ts types :

} %plam bneﬂy D1v1dend Re- znvestment optmns in mutual fund.

, L7 DU S OR
Write short notes on the following. Attempt any three
a) profitand loss L
b) “annuity and’itstypes -
¢) preference shares and bonus shares
d) load on mutual fund
e) discount -

RERKAREACORRKR KRR KKK

0281C74C6A947396FE1A36B32270BSEE

®)

(7)

(8)

(7}
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Paper / Subject Code: 81202 / Introduction to Financial System.

¥ i

BEN~ S-om— L

Time: 2 % Hours
Q.1 A Fill in the blanks (Any Eight)

1A ; system helps in mobilizing the savings. from the hou&eh [
2. is the short form of asset management company. : :
3. based financial services involve a commtssaon SR
4. Financial markets can be physical or :

5. markets provide access to shortterm funds R o A
6. are investors who profit from dlfferences in-pricesin two dfﬁ‘erent markets *
7. Government securities are issued by the RGO ; onbehalf of Government of im:ita

8. is the regulatory authority. for- commoé;ty futures. market inIndia’

9. instruments have both: the features of qutty and debentures

10. The are fmanmai mstruments wmc , darwe va!’ue fram the underlysng asset

B) State whether the following statements are True or False (Any Seven) (07)
1. Money market is a long term market
2. RBI’s main function is financial stability \
3. Financial instruments are ﬁrst 1ssued in'primary market
4. GDRs are traded in American stock matket " =UCT oF
5. CRAs assess the credtb:izty of borrowers
6. AMFl is Asset Management Financial of India
7. Coupon is the periodic interest payment 3 3
8. A hedger s one'who: enters the market to make pmﬁt
3. Insurance: compames are non financial mtermedaames 3 " ;
10. Forexgn exchange market has no physmal Iocatmn & 3
Q2. Expiam the vano?s components of fmanmalimarkets (15)
Q2¢ Explam‘the functao’ of financial markets in financial system (8)
d. Explam the role ofb nkm syste inthe lg}di@f&fﬁh&lhd&? system {7)
Q. 3.2, What are the dszerenc it atwe‘ghj;:j:‘i:gah’i“zfe,d and unorganized financial markets (8)
0. Explain the functlons f capital market . {7)
ur "n’cy market? {8)
antages of capital market. {7}
Q4.a Explam IRDA’S prlmafy ole m»safeguardmg the interest of policyholders. (8)
b. Why are fmancca! regulators important in the financial system? {7)
Q4. Explam‘the \}‘arious quaﬁtitative and qualitative credit controls methods used by RBI {15)
Q.53 Explair_i the features of debt instruments. (8)
b. Explain the various advantages that equity instruments have over debt instruments. {7)

57128 ' Page 1 of 2
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81202 / Introduction to Financial System.

.
.

Paper / Subject Code

OR

Q.5 Write short notes on: (Any Three)

1. Commercial paper

2. Credit Rating Agencies

3. Flls
4. SEBI

5. Derivatives

T

%ﬁ\xz
KA : 5
¥

K

Page2of 2
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27\ |2ty at
Paper / Subject Code: 81201 / Financial Accounting-I. .© = 7 =

to T e

Duration: 2.5 hours f Mﬁrif:s-??a : :

Note: 1) All questions are compulsory.
2) Working Notes should form part of your answer.
3) Figures to the right indicate full marks.

Q.1. (A) Select the most appropriate alternatives from: those glven helow and rewx lte the
statements. (Any 8) : S

1. The amount of depreciation goes on decreasmg every year undel the

method.
a) Straight Line Method b) Fixed Instalment Method
¢) Revaluation Method d) Written. Down Value Method
2. ~_is a commodity in which trader. regularly deais
a) Cash b) Assets YRS
¢) Goods d) Servxce o S
3. The book in which every account is mammned is cc‘; ed &
a) Journal b) Subsuitaly books .-
c¢) Ledger d) None of these
4. Revenue Expenditure is in nature.,
a) Abnormal - -b)Recurring
¢) Non-recurring - - -~ d) Capital -
5. The immediate recoamtmn of loss is supported by prmmpie of
a) Going Concern-- b) Ccnser vatism:
c) Entity Concept &~ .« & ~d)Dual Aspcpt
6. Any entry recorded on beth the sides of cash book is known as____ entry.
a) Opening EE b) Recttiymg B
¢) Contra N od) Transfer :

. Trial Balance is useful for Iocatmg A PRI
a) Errors "~ ¢ b Deblt Ba ances
¢) Financial Position - ~.d)None of‘ these -
8. A brief descrlptzon af transactmn wrltten below each journal entry is known

as ; s
2) Narration LS b) Vouchel
¢) Explanation WS ad) Descnptlon
9. If Fixed Capital Metha‘ $ adopted’ net profit is transferred to account.

a) Partner’s Cgp;iai '
- c) Balance Sheet
/-10:AS3is

* b) Partner’s Current
~d) Trading

a) Cash flow statement b) Valuation of inventories
) Bonowmﬂ Cost ) Segment xepmtmw

Q.1. (B) State whether you would consider the following as Capital Expenditure,
Revenue Expenditure, Deferred Revenue Expenditure, Capital Receipt or Revenue
Recexpt (Any 4 NIaata A ©7)

a. Sale of Old Machmcry
b. Interest paid on Bank overdraft.
c. Rs.7000 was incurred for issue of shares
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Paper / Subject Code: 81201 / Financial Accounting-1.

A sum of Rs.10000 paid for obtaining a license to carry a busmess PR DG RE
Commission received on sales. ' SNk

Wages paid for erection of machinery
Brokerage paid on purchase of land.

Sold 4% government bonds for Rs.140000. , S
Repairing charges paid for keeping the machinery in- workm,‘.,‘ :

j. Term loan taken from banks - R

T@ e o

. e

Q.2 Journalise the following transaction in the books oi Aksh* 1y .‘tha mﬂnth oi Apml;

2018 (15) !
1 Commenced business with cash Rs.1 20 OOO ,goods Rs 60 OOO anc’r ﬁumm;e oty
Rs.65000 v '
4 Opened a current account in Bank of Baroda by deposnm«7 RS 75 OOO
5 Cash Purchases Rs.35,000 R
9 Cash Sales Rs.55,000 TR ARG X
11 Purchased goods worth Rs.20,000 from Amit & co sub]ect totn ade diSCOle Qf ﬂ
2% . ; o
14 Credit Sales to Kalpana Rs.15, 000 , ; ; WO
16 Paid cash to Amit & Co Rs.9,500 who allowed us: dlscount Rs 100
19 Goods distributed as ﬁ'ee samples of Rs.1, 500 i
21 Received Cash: fmm Kal pana Rs 4 800 on acoount of and all wed hcr cash
discount Rs.200¢ . RN I
24 Returned goods of Rs 750 t0 Amlt & co.
26 Purchased shares of Rs.15,000 of HDFC Bank, S S N
29 Received goods returned by kalpana Rs.200 -~
Q.2 Enter the following transaction in the books of Mr. Joshi in Cash and Bank
columns fOI‘ the month of September 2018. (15)
T [Cash Balance Rs. 56, 000
< -~ . |'Bank Overdraft Rs.11,000 e
3 < .o .| Purchased goods for Rs.13,000 for cash at 2% cash discount .
6 -~ | Received bearer cheque for Rs:13,250 from Govind traders.
9. v Purchased 100 shares of Amar Ltd of Rs.100 each at Rs.110 each and paid by
g e Fcheque immediately
g 11 L iSold goods.of: Rs.7000 at 5% cash discount to Amod and he paid haifamcunt
v b o Sl immediatelyd S
‘14~ - | Deposited into bank Rs.11,000
g AN Received a crossed a cheque for Rs.18,000 from Ganesh Traders
120 | Bank paid our telephone bill Rs.3,230
21 | Bank charged Rs,540 as interest on overdraft
225 Paid by cheque to Urmila Rs.8,000
Vb 29 Deposited into Bank the cheque received from Govind Traders
27 Received a bearer cheque for Rs.3460 for rent which was deposited into bank.
SRS Bank informed that cheque received for rent was dishonoured
C 550386 SSL.EE Page 2 of 6
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Paper / Subject Code: 81201 / Financial Accounting-I.

30 Paid life insurance premium of Mr. Joshi Rs.4,250 by cash ancf
Rs.7400 by cheque. A

November 2017.The depreciation was provided annually on 71 st Mamh;@ 0% DAL _
original cost method. Show Machinery Account for the year ended ’?(}}4 15 2015- -
16,2016-17 and 2017-18. & S SO

lst

associates as on 31/03/2018

. Particulars

_ Opening Stock
Bills Receivable

1 Bills payable
Salary :
Carriage Outward A Ot RN 1,800
Wages T ; 2 AR O AR2S00
Debtors TSRS &L N TS O B,000
Creditors LS TS OCC TS KT FONTR500
Commission (Dr). .7 TERXXETEHIY 38 "2 800
Purchases ©2,10,000
Sales (o) 3,27,000
Purchase Return - 4,000
Sales Returg® .~ % & 3¢ g w SRR LT & 2,000
Insurance AR e 2,400
Commission (Cr) = o R RN S 700

. Cash in hand " - 15,700
Rovalty<” .~ 4,000
Bank Loan 70,000
Machinery - ¢ 80,000
Rentand taxes 1,500
Furniture - o 30,000
%dvemsement : 6,000
: Capital - ] g ' 90,000

memcs ARG e 9,000
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Q.3 (B) From the following Particulars of Mr.Kartik prepare : Ani“v |
book under imprest system for the month of July 2018. :

Cash balance Rs.70. Advanced received from head C&Shl@l Rs 730

Purchased Postal stamps Rs.35 and postal cards Rs.50

1
3
5 Paid Ananya Printers for printing the bill book Rs 1 0
8 Paid railway freight Rs.88 . 5

11 Purchase CFL Tubes Rs.102

14 Paid bus fare Rs.24

15 | Sold old news papers Rs.115

17 | Paid coolie Charges Rs.25

19 | Gave tips to peon Rs.30

21 | Paid to Mr.Pratap Rs.115

Q.4 Sonam Chemicals has the following ledger balances as on 315‘ \/Izuch 2018 &

Particulars Rs Rs
Goodwill =17 - 50,000 )
Factory Shed > 2,520,000 [«
Machinery o S E36000 v S &y
Furniture S T 8000 B4
Investments AESLSIE O FO000C L ES
Capital <1 95,000 [
Bank Loan TS Ao 6 3,000000
Creditors S S S 81 50,0000)
Debtors R R K35000d & ~ o~ i 4
Stock on 01/04/2017 T S
Materials o3 %O &R LTk <1.30,000
Work in ;P‘;?Qfgr‘csé’f R SRS 7,500
Finished. Gdéd’s R ROE Y 82,500
Net Sales.™ A SRl I § 11.00,000
Mlscelianeous lncome»jf‘ R 4,000
Bad debts Reserve .~ o o 5,000
| Purchase of Materials .~ = =~ © | 8,60,000 |
.| Freight on Materials -~ - 50,000
o '-]Fftctery Power. < S0 ST A 15,000
7| Salaries and wages: TS "
5 ,Factory SO SS F E150,000
Office =+ ¢ C SR 65,000
: Repa1rs , 2,500
Rentandtaxes” = 16,500
Insurance 3,900
‘General Expenses al 18,100
,Total R 17,54,000 | 17,54,000
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Pager | Saliject Code: 81201 / Financial Accounting-1.

The following Addomsl Information:
Closing stock - Materials Rs.2,10,000, Work in progress
Goods Rs.2,07,500

o 32 -
4. Rezserve for doubtful debts to be provzded at
. Pecpesd lnsurance Rs.325.

Yu are reguired to prepare Manufactnrmg, ;
Balsmes Shess 2 om 31 March 2018.

90,000
6,80,000
52,000
3,000
10,000

9,25,000

100 and Reserve for bad debts Rs.5000
was stolen but no entry was passed

And Loss Account and Balance Sheet as on 315
(15)
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OR
Q.5 Short Notes (ANY 3)
1. Debtors and Creditors
2. Capital and Revenue Expenditure
3. Going Concern Concept
4. Need of Subsidiary Books
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